SF0 145 i = X 15
[l EXI RN i) )| | f &
e R ks @ A o w4 [P PEEERTIBEITOGES
| AR H ik & L CHRE 2T 2 Hitik 3ﬁ 1.0 ’ : wg %% ’ ’
RERLIA o Hitke 30 | 10 i 6. 6l 6. 6
Y SRET1~4 TR R 30 | 1.0
k| KET1~4TH EE 30 | 1.0
E JCRET1 ~5TE |AiEHiiks U THESL TV Hlk 30 | L0 [El=aica = et
EELIA 0 i 30 | 1.0 3. il 6. Gl 6.
X EFT1~7TH H g L L CHRE S0 D His 30 Loﬁm@Emﬁr [3bi=
EFRLIA o Hitkek 30 | 1.0 3.3t 3.8 il 6. 6
BAT1~5TH  |H@ih s LTRES T2 30 | 1.0 ] b [2ki=
EELIA O Hi 30 | 1.0 3ﬁﬁﬁﬁﬂ6ﬁ
L BBFIfT1~6 TH  |Aigtlge LTRESh T2 HR 30 Loﬁmﬁgmﬁ
LFRLIS 0 s 30 | 1.0 [#l 3.3 3. 8§l 6.6l 6.6
o IXCHET L ~5TH |2 30 | L0
#ET1~3TH 1TH 30 | 1.0
2-3TH 30 | 1.0
N BHRRT1L~3TH |2 30 | 1.0
BT 1~4TH |2 30 | L0
PEAAET PR & L CHRE ST £ Hii 30 | 1.0 HECHENE LTS 2k
EFRLASN O HiiEk 30 | 1.0 3.3 3. 8 6. 64l 6. 6
3 BRET1~5TH |k 30 | L0
AE1~3TH g 30 | 1.0
b R PHL AT - FIOA T H
1 HFEARA A2 EBRSERE3 85V (30 | L0
2 LS o 30 | 10
A TATdE s OETH
1 FEAA 2 EERSERES 85V (30 | LO
2 ERRES O HE
(1)$ﬁmﬁkbrﬁﬁénfw5ﬂ3o 1.0 jEaic




SF0 145 i = X °H
SIS A e i) )| BEE
e R ks @ A o w4 [P PEEERTIBEITOGES
b R (2) ERLSt D 30% Lo i {gfm 8. {6% 6% i |
FFCLAS DR IR AT
1 fEdg s LCHESh TSk |30 | 1.0 Bk
2 FELS o 30 | 1.0 i 6. 6l 6. 6
| HARMIE L ~8TH |Adkigs LTHEE ST 2 Mk 30 | 1.0 i Bt
EELIA 0 i 30 | 1.0 i 3. 8%l 6. 6ffili 6.6
HARTE 1 ~6 TH Al L CTHREIR T HIER 30 | 1.0 [3bi=
EFRLIA o Hitkek 30 | LO ria 3. 8 6. gl 6. 6
FHARNR1I~9TH Higihd LTRES T2 30 | 1.0 [FEE [2ki=
EELIA O Hi 30 | 1.0t 3.3 3. 8t 6. 64l 6.6
EAREF 1~5TH [H@Eilfe UTHEES T2 il 30 | L0 2
EFELIA 0 30 | 1.0 3. 8l 6. BHl 6.
LS Fligiii e L CIRESN TV AR OWR |30 | 1.0 Jﬁlbtiﬁ[:l:tfj [2ae
FsA RAE RS [EE 3 8 Fibw
LIS o i 30 | 1.0 3. 3%l 3. 8% 6. 64 6.6




